AIWQI )S (;80)8 § (530)9 — @9 (Sunls

Uil Lo )gTuws C35)5 sl ag) jl o3Lauwl § ASuwgy )3 (80)8 § (539)9 Capas Ly awlds ool ys

23000,

d3(8 )3 1y (o)95uws (5035 31936 43635 3335 ()l § 3135 gualsil |y pj sleygSuws

NEV.N)

$ echo "Message 1" >mesg.txt >0 Qe Gy @ )oTws A3 (;80)8 Hlbgd
$ cat mesg.txt

$ seq 7 >mesg.txt
$ cat mesg.txt

$ date >>mesg.txt >> 0 Jald sled) @ 80)b ()3)S adlol
$ echo "Message 2" >>mesg.txt

$ cat mesg.txt

33198 318 )l Olgie 13 1) Lo)giumws (539)9

$ sort
$ sort <mesg.txt

(3303 )i 1) D) 1) (5 bbung3 aub 3)lg (Slobs (5)LwCI3)s
o3 paAis 308 ) (539)9 Orilgh

$ sort <mesg.txt >out.txt 10 B8 @ 8g)d O3HGY § L8 ) (53g)9 OHIgh

0)5 o) gy )> .3Buwpd (5)30> )3 W (539)9 OleAc W 1) )olws 3 (;89)8 (1§30

.30, ladl (Pipe) alg)



$ cat test.txt
$ cat test.txt >copy.txt

$ seq 7 Ouda GGy slacl ols

$ seq 7 | wc (Wc yolws U) dg)a g laasls aba slaad gb)ljs

$ seq 7 | tac (tac yo3ms L) Puic VBP b labs vils

$ seq 7 | head -n2 (head jo5ums L) Jol b s Lilo

$ seq 7 | tail -n3 (tail yo5ums 1) )AT b s LIlo

$ seq 7 | shuf (shuf yo3ws b) ;83003 O)go W WA LI5)S RIS

$ seq 7 | tee copy.txt tee @ aa a3l J3ld @y (35 Gy OGS § (,80)b Ola
)l @5 () ys |y test.bxt L6 a5 b syl slp

$ echo "Test file" >test.txt J3ld 3 @ ba (sslaad Hhbgd

$ echo "Line two" >>test.txt

$ echo "Line three" >>test.txt

$ echo "Line four" >>test.txt

$ echo "Test file" >>test.txt

o) dal6 9315 (35 Jslaes

3)5 padiis JS 338 a3 1) (539)9 Jald 193¢0 «laygims il )by )s

$ grep "two" <test.txt
$ cat test.txt | grep "two" cat ygluws )l aslaiw)
$ grep "two" test.txt 1)l Olgic @y laygiuws il A1 530)9 Sladalé pnas

two sasls Jalb slaba g lsd

gl b )93y 18 3)06 )3 2003 SIP . Mp38 ElB) Llac as ) Sle)giws 3335 w)p

Apled aeslis o sladsl) saain a3 315 O1 slayishl



$ unig <test.txt @ 1w QUi 5))33 (Sloba bia

$ sort <test.txt | uniq S3gii,» o3ladwl sort alpss uniq o.acs 1o
$ tr ie KM <test.txt 10350 @ dgpa JIaad
$ sed "s/Line/Test/g" <test.txt 1 Oy)be @ O)be Gy slaslady s
$ sed "/Line/d" <test.txt Oybe A3 Jalid slaba sasn dis
$ fmt <test.txt 0)lgls slad)Shb )s asls Hsls Hs
$ nl <test.txt ba (so)Lad ()3)3 as Ll
$ hexdump <test.txt 031300 (sGus pilad

ol 5)(5 as g 3313 LS e b lo)gSws 1o 3 sloba )l G jo )s 3983 331043

BNV

$ seq 20 | shuf | head -n1
$ grep "Line" test.txt | wc -1
$ cat test.txt | sort | unig | wc -1

b slaul oslab saaliy G 3115 lyal g G318 Lys 1y oslab.sh Jslé p) slayglws b

$ wget http://nit.rudi.ir/oslab.sh
$ sh oslab.sh

-3335¢,0 slaol grep jguws )B8) )s (saS as o3 o3ls Slayial)b 3335 )P

$ grep -r "follow" oslab/ (Recursive) (Inu5)0L Cyg0 a3 galws
$ grep -r -1 "follow" oslab/ B)a (50)1331 (138)5 A3 )s (9 @b
$ grep -r -h "follow" oslab/ bd ol ia
$ grep -r -1 "follow" oslab/ laold Cuwpgd osls HlKS

\'s



13 1) )L as ) Holws .3)5 sgsas |y galma (g3, find g grep sla)glws CuSH b

03350 )(5 Guw)s s § 3350 683ms (laslé as

$ grep "malloc" ‘find oslab/ -name ’*.c’°¢

13 1y 333w recomp Oylac Jalid a5 (o Jald Ciwpgsd 315 slaol ly ~/ex2 (sadly

Sy ~/ex2/recomp.txt e

ooy ~/ex2/log.txt Juls ys 1y oslab/doc/log.txt Juld 10° G lo° (slaba
Jody ~/ g 38 )5 g 3

J—8 )3 1y .c agmn Loy slad 16 )s #include J—sliv }3lais slaba sa_—so

15 awlas |y (31 slaed § sawugly ~/ex2/include.txt

|

1P

1w



